UP308

Parts Manual
Seventh Edition March 1999

L]

Chlcagu _ CP0351 Compression Riveter
Pneumatic Model ‘5"

Deutsch Q Ersatzteilkatalog Portugués e Manual de Pecas

(German) CPO0351 Drucknietwerkzeug (Portuguese) CP0351 Rebitador de Compresséo

Frangais Manuel de pieces détachées Dansk Reservedelsliste

(French) Riveteuse a compression CP0351 (Danish) CPO0351 Tryknittemaskine

Nederlands @ Onderdelenboek Norsk @ Handbok for reservedeler

(Dutch) CP0351 Compressie klinknageldrijver (Norwegian) CP0351 Kompresjonsklinkehammer

Italiano “ Manuale delle parti Suomi Varaosaluettelo

(Italian) CPO0351 Rivettatrice a compressione (Finnish) CP0351 Paineilmaniittaaja

Espariol G Manual de partes Svenska @ Handbok for reservdelar

(Spanish) CP0351 Remachadora a compresion (Swedish) CP0351 Kompressionsnitmaskin

Q
o)

00
0@
Q0
00
-y -
QO
O®
-
)

Read and understand these instructions before operating tool. Read and understand Chicago Pneumatic leaflet “Pneumatic
Compression Riveter Safety Instructions P144632" before operating tool.

Bitte lesen Sie diese Anleitungen grundlich, bevor Sie dieses Werkzeug in Betrieb nehmen.
Lesen Sie ebenfalls die Chicago Pneumatic Broschure “Sicherheitsanweisungen fiir Druckluft-Drucknietmaschine P144632,” bevor
Sie dieses Gerét in Betrieb nehmen.

Lisez attentivement ces instructions avant d'utiliser cet outil.
Lisez attentivement la notice « Consignes de sécurité relatives aux riveteuses a compression pneumatiques P144632 » de Chicago
Pneumatic avant d'utiliser cet outil.

Lees deze instructies en zorg dat u ze begrijpt voordat u het gereedschap gaat gebruiken.
Lees de folder "Veiligheidsvoorschriften voor pneumatische compressie klinknageldrijver P144632" van Chicago Pneumatic en zorg
dat u deze begrijpt voordat u het gereedschap gaat gebruiken.

Prima di utilizzare 'utensile, leggere attentamente queste istruzioni.
Prima di utilizzare I'utensile, leggere attentamente I'opuscolo "Norme di sicurezza per rivettatrici pneumatiche a compressione
P144632" della Chicago Pneumatic.

Leay comprenda estas instrucciones antes de poner la herramienta en funcionamiento.
Leay comprenda el folleto de Chicago Pneumatic "Instrucciones de seguridad para remachadora neumatica a compresion,
P144632" antes de poner la herramienta en funcionamiento.

Leia e entenda estas instrugdes antes de operar com a ferramenta.
Leia e entenda o folheto da Chicago Pneumatic “Instrugdes de Seguranca do Rebitador de Compresséo Pneumatico P144632",
antes de operar com a ferramenta.

Lees og forsta disse instruktioner, fer du betjener veerktgijet.
Lees og forsta Chicago Pneumatic brochuren “Sikkerhedsvejledning for pneumatisk tryknittemaskine P144632,” far du betjener
veerktgjet.

Alle bruksanvisningene ma leses grundig og forsta far verkteyet tas i bruk.
Les og forsta brosjyren som kalles for Chicago Pneumatic “Sikkerhetsbruksanvisninger for pneumatisk kompresjonsklinkehammer
P144632" fgr verktgyet tas | bruk.

Lue ndma ohjeet perusteellisesti ennen tydkalun kayttad.
Lue perusteellisesti Chicago Pneumatic -esite “Paineilmatoimisen niittajan turvaohjeet P144632” ennen tyokalun kayttoa.

Las och forsta dessa anvisningar innan verktyget anvands.
L&s och forsta haftet “Sakerhetsanvisningar P144632 for pneumatisk kompressionsnitmaskin” fran Chicago Pneumatic innan
verktyget anvands.

r"-Ln - 22 (e f kAl L2 , menp LR

i '-—_|: Sa0ARTEN L -
i 1775 HF :
T ' = = L .I -
fa” . § . | o e T
i r ==l T T v [ T[]

e C1lmmd : 3, 1 e g il o

EL cAD4a350 7 i I
172" WPT) m

P122454 Rev. C



CPO0351

Compression riveter

Model “B"

UP308

Parts Manual

Complete assembly as shown P078074 4 3B 55
Index CP No. | Index CP No.
No. Part No. Description Req'd. | No. Part No. Description Req'd.
1 P073018 Retainer-Valve Spring 127 P083082 O-Ring (-112) 1
2 P073017 Spring-Throttle Valve 11|28 P073899 Cylinder (Includes: Index Nos. 24&54) 1
3 P089289 Valve-Throttle (Inner) 131 P073052 Lever-Throttle 1
4 P089290 Holder-O-Ring 1]32 P073115 Screw-Adjusting 1
5 C087316 O-Ring (-006) 1133 H072480 Nut-Adjusting Screw (Acorn) 1
6 P089288 Retainer-O-Ring 1|34 P073085 Pin-Lever 1
7 CA083354 O-Ring (-111) 1136 P070438 Nut-Piston Rod 1
8 P089287 Valve-Throttle (Outer) 1|37 P089740 Piston-Return 1
9 P087561 Throttle Valve Complete 38 C083177 O-Ring (-210) 1
(Includes: Index Nos. 1 - 8) 11|39 P129619 Pin-Piston Head 1
12 P073014 Bushing-Valve Stem 1|40 P128524 Ring-Retaining 1
13 P073058 Stem-Throttle Valve 1|41 P074326 Spring-Wedge 1
14 P073060 Block-Valve Stem 1|45 P089292 O-Ring (-338) 1
15 P073059 Stem-Valve 146 P089737 Piston 1
16 P089178 Swivel-Air Inlet 1|47 P128877 Rod-Piston 1
17 P073054 Nut-Swivel 11|48 P077832 Piston & Rod Comp.
18 P073057 Spring-Throttle Valve 1 (Includes: Index Nos. 45 through 47) 1
19 A082759 O-Ring (-213) 1|50 P078068 Knob-Regulator 1
20 P073009 Gasket 2151 P073956 Valve-Regulator 1
21 P073008 Cap-Return Cylinder 1|52 P073957 Spring-Regulator 1
24 P073056 Bushing-Throttle Valve 53 P078075 Cylinder & Regulator (Comp.) 1
26 P057199 Bushing-Piston Rod (Includes: Index Nos. 28
(Includes: Index No. 27) 1|54 P074242 Insert-Regulator Body 1
2 CHICAGO PNEUMATIC TOOL COMPANY P122454



CPO0351 UP308

Compression riveter Model “B" Parts Manual

i

Index CP No. | Index CP No.
No. Part No. Description Req'd. | No. Part No. Description Req'd.
25 P073899 Cylinder 1135 P059338 Cylinder Assembly
26 P057199 Bushing - Piston Rod (Includes: Index Nos. 26 & 29) 1
(Includes: 1 of Index No. 27) 2|43 P057198 Piston-Tandem 1
27 P083082 O-Ring - Bushing (-112) 2|45 P089292 O-Ring Piston (-338) 2
29 P057194 Cylinder-Tandem 1|46 P089737 Piston 1
30 P057197 Screw-Allen Cap (1/4 in.-20x5 in.) 4147 P128877 Rod-Piston 1
P070320 Wrench-Allen (3/16 in. Hex.) 1149 P057200 Rod-Tandem Piston 1

P059244 TANDEM CYLINDER CONVERSION KIT

P059338 Cylinder Assembly (Includes: Bushing)
P057197 Bolt (4)

P057198 Piston

P057200 Piston Rod

P089292 O-Ring

P122454 CHICAGO PNEUMATIC TOOL COMPANY 3



CPO0351 UP308

Compression rivter Model “B" Parts Manual

AT I

A \ !

1
l
1E
I

A

mm 1 5N I

L om
W T T[ma3
104 ;
s W fil
130,131
Index CP No. | Index CP No.
No. Part No. Description Req'd. | No. Part No. Description Req'd.
55 P073002 Adapter-Cylinder 1 P117507 Frame-Yoke (CP-2A, CR-2)
56 P073025 Screw-Adapter (1/4 in.-20x5/8) 4 (Each Includes: Index No. 116)
P070320 Wrench-Hex. (3/16 in.) 1116 P073036 Bushing Set Holder (CP-1, CR-1)
58 P073006 Wedge 1 P073035 Bushing-Holder (CP-2A, CR-1) 1
63 P073031 Bearing-Roller 38 P018708 Bushing-Holder (CP-1, CR-2)
64 P073030 Roller 2 P117543 Bushing-Holder (CP-2A, CR-2)
65 P078605 Roller Assembly 117 P073026 Bolt 3
(Includes: Index Nos. 63, 64 & 66) 2|18 P073027 Washer 4
66 P073032 Washer-Thrust 41119 P073029 Spacer 1
68 P073033 Guard-Roller 11120 P003092 Yoke Bolt (CP-1 - 1-5/16 in. long) 1
70 See Table 1 Yoke 1 P003083 Yoke Bolt (CP-2A - 1-5/8 in. long)
75 P073239 Shaft-Lever 1]121 P003093 Nut-Bolt (5/16 in.-24) 1
76 P006087 Nut (1/4 in.-28) (Hex.) 41122 P073047 Yoke Bolt (CP-1 - 1-5/16 in. long) 1
82 P073693 Guard-Spring Return 1 P073046 Yoke Bolt (CP-2A - 1-9/16 in. long)
83 P073238 Spring-Return 21123 P006315 Yoke Nut (CP-1 - 7/16 in.-20) 1
91 P073045 Shaft-Roller 1 P005997 Yoke Nut (CP-2A - 7/16 in.-20)
93 S067191 Bearing-Roller 28 | 124 P073041 Screw-Guard (Round Head)
94 P073043 Roller-Lever 1 (No. 10-32x1/4in.) 2
102 P073694 Wheel-Thumb 11125 P073005 Lever-Holder 1
104 P074300 Washer-Wheel Spring 11126 P073242 Pin-Lock 1
105 P074674 Bracket-Adjusting 1127 P073961 Yoke-Spring (CR-1) 1
107 P074675 Screw-Adjusting 1 pP018727 Yoke-Spring (CR-2) 1
108 P0O74744 Button-Escape 11128 Set Holder 1
109 P074317 Spring-Button 11129 P078606 Lever-Roller Assembly
110 P074318 Pin-Button 1 (Includes: Index Nos. 93, 94) 1
112 P073700 Rivet-Bracket 6| 130 P078159 Bracket-Adjusting Assembly
115 P073004 Frame-Yoke (CP-1, CR-1) (Includes: Index Nos.
P073003 Frame-Yoke (CP-2A, CR-1) 82,102, 104, 105, & 112)
P113357 Frame-Yoke (CP-1, CR-2) 1131 P078124 Stroke Adjusting Assembly
(Includes: Index Nos. 107, 108,
109, 110, & 130) 1

4 CHICAGO PNEUMATIC TOOL COMPANY P122454



CP0351 UP308
Compression riveter Model “B" Parts Manual
EﬁE N "
ﬁ'.:l'--- — 'r--.- -.u-wE-E .l.r__q- E'B Eg -Ill{l ?I _,.-l'.:..“'. E H-...Q"-_ ' . "‘\.ﬁ - . -
H - ™ . - . . . . * . . |
60,01 fF——— - i : ‘ |
e "'.'
L T e .
nd 53 ) - 1. .._..___ & ‘ ) ‘-.Hl-_.__hr_{"_' 1 ]-_‘ I_I
il - i e T N e
T- -' . 2 .-': N A | {:}]:f‘,.L'— -
- |'J|:|f:*}|ﬁ T |
cgs] -~ PR A S ] b Al
- - .\1::'..-'-_!'. I'I‘ .-'.' .CI-' ;.-__.:I:_I rP—_—r O ! b
- - e AN A
. . L . . _.}""-? r .__.-" v P .
e A ’f’f P 7 Er A <l
H'-I e LR DO .-f.._ |1..'_.. ":_ ’ .-: EA ’ R < o £ 1
"-l."ljl-' B T e
i M e L
i - Lt O T N
il Fa b .-?_. &l e =
.- & T
- B
106~
112
Index CP No. | Index CP No.
No. Part No. Description Req'd. | No. Part No. Description Req'd.
55 P073087 Adapter-Cylinder 1| 84 P073091 Anchor-Spring (2-7/8 in. Jaw) 1
56 P073025 Screw-Adapter (1/4 in.-20x5/8in.) 41 85 P073092 Rivet-Anchor (2-7/8 in. Jaw) 4
P070320 Wrench-Hex. (3/16 in.) 11 86 P073246 Pin-Spring (5, 7, & 9-1/8 in. Jaw) 1
58 P073090 Wedge (2-7/8, 5, & 7 in. Jaws) 87 P073514 Screw-Guide 2
P082671 Wedge (9-1/8 in. Jaws) 1] 88 P073093 Dowel-Jaw 2
59 P082672 Shim-Wedge (9-1/8 in. Jaws) 2| 89 P073094 Screw-Jaw (5/16 in.-24x1/2in.) 2
60 P073095 Bolt-Jaw 2 S069343 Wrench-Hex. (1/4in.) 1
61 P073096 Washer 2|91 P081936 Shaft-Bearing End 1
62 P003093 Nut-Jaw (5/16 in.-24) 2| 92 S067191 Bearing-Roller (2-7/8,5, & 7in. Jaw) 52
63 P073031 Bearing-Roller a4 S-067191 Bearing-Roller (9-1/8 in. Jaw) 58
64 P073097 Roller 2| 93 P073101 Race-Inner Bearing (2-7/8,5 & 7 in. Jaw) 1
65 P078604 Roller Assembly P082673 Race-Inner Bearing (9-1/8 in. Jaw) 1
(Includes: Index Nos. 63 & 64) 21 9% P073102 Roller-Bearing (2-7/8,5 & 7 in. Jaw) 1
66 P073098 Washer-Thrust 4 P082674 Roller-Bearing (9-1/8 in. Jaw) 1
68 P073099 Guard-Roller 1] 95 P078603 End Bearing Assembly
69 P073041 Screw-Roller Guard (2-7/8,5 & 7 in. Jaws)
(No. 10-32x1/4 in. Round Head) 1 (Includes: Index Nos. 93,94 & 52 0f 92) 1
70 See Table 2 P078832 End Bearing Assembly (9-1/8 in. Jaw)
(page 7) Jaw-Stationary (Includes: Index Nos. 93,94 & 58 0f 92) 1
(Includes: Index Nos. 84 & 85) 1] 100 C088317 Washer-Retainer 1
71 See Table 2 101 P074320 Washer-Wheel Thumb 1
(page 7) Jaw-Moving 1] 102 P080155 Wheel-Thumb 1
73 C129843 Bearing-Roller 39 | 103 P073078 Pin-Wheel Thumb 1
74 P073110 Race-Bearing 1| 104 P074300 Washer-Friction 1
75 P073108 Bolt-Bearing 1] 105 P074310 Bracket-Adjuster (2-7/8 in. Jaw) 1
76 C068527 Nut-Bolt (1/2 in.-20) 1 P074311 Bracket-Adjuster (5, 7 & 9-1/8 in. Jaws) 1
7 P073111 Washer-Thrust 2| 106 P080156 Sleeve-Wheel 1
80 G084533 Rivet-Guard (5/32 in. dia.x1in.) 11| 107 P074315 Screw-Adjusting 1
81 P073103 Link-Spring (2-7/8 in. Jaw) 1| 108 P074316 Button-Escape 1
P073236 Stud-Spring (5, 7 & 9-1/8 in. Jaws) 1| 109 P074317 Spring-Button 1
82 P074308 Guard-Spring (2-7/8 in. Jaw) 1] 10 P074318 Pin-Retaining 1
P074309 Guard-Spring (5 in. Jaw) 11 1m P078596 Stroke Adj. Comp. (2-7/8 in. Jaw)
P074322 Guard-Spring (7 & 9-1/8 in. Jaw) 1 (Includes: Index Nos. 100 through 110)
83 P073106 Spring-Return (2-7/8 in. Jaw) 1 P078595 Stroke Adj. Comp. (5, 7 & 9-1/8 in. Jaws)
P073245 Spring-Return (5, 7 & 9-1/8 in. Jaw) 1 (Includes: Index Nos. 86, 100 - 110)
P122454 CHICAGO PNEUMATIC TOOL COMPANY 5



CPO0351

Compression riveter

Model “B"

UP308

Parts Manual

133

Index CP No. | Index CP No.
No. Part No. Description Req'd. | No. Part No. Description Req'd.
31 P074831 Lever-Throttle 1 P080267 Cable-Throttle (8 ft) 26 m 1
32 P073115 Screw-Adjusting 1 P080120 Cable-Throttle (12 ft) 39 m 1
33 H072480 Nut-Screw (No. 10-32) 1(138 P074829 Casing-Cable (6 ft) 19 m 1
132 P074830 Bracket-Cable Casing 1 P080268 Casing-Cable (8 ft) 26 m 1
133 H073533 Screw-Bracket (1/4 in.-28x5/16 in.) 3 P080119 Casing-Cable (12 ft) 39 m 1

R00930 Wrench-Hex (1/8 in.) 139 C064806 Screw-Clamp Base (1/4 in.-20x3/4in.) 2
134 P073474 Screw-Bracket Clamp (N0.10-32x1/2in.) 2 P070320 Wrench-Hex. (3/16 in.) 1

P070493 Wrench-Hex. (5/32in.) 1 [140 P074822 Trunnion-Foot Lever 1
135 P074827 Collar-Cable 1142 P074823 Spring-Lever Return 1
136 S038995 Screw-Set (1/4 in.-28x1/4 in.) 2 (143 P074821 Lever-Foot 1

R009300 Wrench-Hex. (1/8 in.) 11144 P0O70947 Pin-Lever Foot 1
137 P074828 Cable-Throttle (6 ft) 19 m 1145 P074820 Base-Foot Throttle 1

6 CHICAGO PNEUMATIC TOOL COMPANY P122454



CPO0351

Compression riveter

Model “B"

UP308

Parts Manual

TABLE1
YOKES USED WITH CP-1 YOKE FRAMES
Set
Yoke A B C E H J K L Holder
CR-1 P009530 2-1/8 25/32 1-5/32 1-17/32  7/32 1875  3-13/16 2-15/16 P073237
CR-2 P121519 2-1/8 25/32 1-5/32 1-17/32  9/32 2500  3-13/16 2-15/16 P018707
TABLE 2
ALLIGATOR JAW DIMENSIONS
Complete
Front End Stationary Moving
Units Jaw Jaw A B D E F H J
CR-1 P078659 P073089* P073088 2-7/8 7/8 5/8 1-5/8 3/8 7/32  0.1875
CR-1 P078660 P073243 P073244 5 7/8 1-3/8 1-5/8 3/8 7/32  0.1875
CR-1 P087668 P088832 P088831 7 1-1/2 1-11/16 2 1/4 7/132  0.1875
CR-1 P078661 P073748 P082632 9-1/8 3/4 1-11/16 2-1/8 11/16  Jul-32  0.1875
CR-2 P074306* P074307 2-7/8 7/8 5/8 1-5/8 3/8 3/8 0.25
CR-2 P018724 P018725 5 7/8 1-3/8 1-5/8 3/8 3/8 0.25
CR-2 P080111 P080112 7 1-1/2 1-11/16 2 1/4 3/8 0.25
CR-2 P018704 P090807 9-1/8 3/4 1-11/16 2-1/8 11/16 3/8 0.25

*Includes: Index Nos. 84 & 85 on page 5

P122454

CHICAGO PNEUMATIC TOOL COMPANY




CPO0351

Compression riveter

Model “B"

UP308

Parts Manual

Air Supply Requirements

1.

Supply tool with 90 psig (6.2 bar) of clean air. Higher pressure
reduces tool life.

. Connect tool to air line using pipe, hose and fitting sizes shown in

the diagram.

Lubrication

Use an air line lubricator with air tool oil, adjusted to two drops per
minute. If an air line lubricator cannot be used, add oil to the inlet
once a day.

Tool Data

This tool produces a noise level of 102 dBA sound pressure, 112
dBA sound power per CAGI - Pneurop test code and a vibration
level of 12.4 m/s? tested per ISO 8662.

Maintenance

. Disassemble and inspect high wear parts every three months.
. Replace damaged or worn parts.

. High wear parts underlined in the parts list.

Druckluftanschlufy

1. Fur den Betrieb des Werkzeugs ist saubere, trock_ene Druckluft
mit einem Druck von 6,2 bar/90 psig erforderlich. Uberschreiten
dieses Wertes verkurzt die Lebensdauer des Werkzeugs.

2. Die fur den AnschluBR des Werkzeugs an der
Druckluftversorgung geeigneten Rohr-, Schlauch- und
Armaturengrof3en sind dem Schema zu entnehmen.

Schmierung

1. Zur Schmierung ist ein in der Leitung montierter Oler sowie
Druckluftmaschinendl zu verwenden. Die Olzufuhr ist auf zwei
Tropfen pro Minute einzustellen. Ist der Einsatz eines
leitungsmontierten Olers nicht moglich, einmal taglich Ol direkt
in den Lufteinla® am Werkzeug traufeln.

2. Prufen Sie den Olstand der Kupplung einmal pro Monat.
Verwenden Sie 22 ml Ol des Typs SAE Nr. 30 oder
gleichwertig.

Werzeug-Emissionsdaten

Die von diesem Werkzeug ausgehende Gerduschemission hat
einen Schalldruck von 102 dB(A) und eine Schallenergie von
112 dB(A) nach Prufnorm CAGI-Pneurop. Der Vibrationspegel
betragt 12,4 m/s? entsprechend Priifnorm ISO 8662 bei
Belastung mit Friktionstrommel von einer Umdrehung je 8
Sekunden.

Wartung

1. Bei taglicher Benutzung des Werkzeugs den Druckluftmotor
und die  Schlagwerkskupplung alle drei Monate
auseinanderbauen und prufen.

2. Schadhafte und abgenutzte Teile auswechseln.

3. Teile, die starker Abnutzung unterliegen, sind auf der Teileliste
unterstrichen.

Exigences applicables a I'alimentation en air

1. Alimenter I'outil avec de l'air propre et sec a 6,2 bars (90 psig).
Des pressions plus élevées réduisent la vie utile de l'outil.

2. Raccorder l'outil a la conduite d'air avec le tube, le flexible et
les raccords des dimensions indiquées sur le diagramme.

Lubrification

1. Utiliser un lubrificateur d'air en ligne rempli d'huile pour outils
pneumatiques réglé a deux gouttes par minute. S'il est
impossible d'utiliser un lubrificateur d'air en ligne, ajouter de
I'huile dans le raccord d'admission d'air une fois par jour.

2. Vérifier I'huile de 'embrayage une fois par mois. Utiliser 22 ml
(0,75 oz) d’huile SAE 30 ou équivalente.

Données sur l'outil

Cet outil produit une pression acoustique de 102 dBA et une
puissance acoustique de 112 dBA mesurées selon le code
CAGI - Pneurop, et un niveau de vibrations de 12,2 m/s? selon
la norme 1SO 8662 lorsqu'il est équipé d'un tambour a friction
tournant d’une révolution en huit secondes.

Entretien

1. Démonter et inspecter le moteur pneumatique et 'embrayage a
percussions tous les trois mois si l'outil est utilisé tous les
jours.

2. Remplacer les pieces usées ou endommagées.

3. Les piéces soumises a une usure importante sont soulignées
dans la liste des piéeces.

Vereisten voor luchttoevoer

1. Voorzie het gereedschap van schone, droge lucht van 90 psig
(6,2 bar). Bij een hogere druk wordt de levensduur van het
gereedschap verkort.

2. Sluit het gereedschap aan met pijp, slang en koppelstuk van
de in het diagram aangegeven maten.

Smering

1. Gebruik een luchtleidingvernevelaar en stel de olie voor het
luchtgereedschap af op twee druppels per minuut. Als geen
luchtleidingvernevelaar kan worden gebruikt, breng dan
eenmaal per dag olie in de inlaat aan.

2. Controleer de koppelingsolie een maal per maand. Gebruik 22
ml SAE#30 (of gelijkwaardige) olie.

CHICAGO PNEUMATIC TOOL COMPANY

Gegevens over het gereedschap

Dit gereedschap produceert een geluidsniveau van 102dBA
geluidsdruk, 112 dBA geluidsbelasting per CAGI - Pneurop
testcode en een trillingsniveau van 12,4 m/s?, getest volgens
ISO 8662, belast met frictietrommel ingesteld op één slag in
acht seconden.

Onderhoud

1. Demonteer en inspecteer de luchtmotor en de slagkoppeling
om de drie maanden indien het gereedschap dagelijks wordt
gebruikt.

2. Vervang beschadigde of versleten onderdelen.
3. Slijtdelen zijn in de onderdelenlijst onderstreept.

P122454



CPO0351

Compression riveter

Model “B"

UP308

Parts Manual

Requisiti per I'alimentazione dell'aria

1. Fornire all'utensile aria asciutta e pulita ad una pressione di 6,2
bar (90 psig). Una pressione maggiore riduce la durata in
servizio dell'utensile.

2. Collegare l'utensile alla linea dell'aria con un tubo rigido, un
tubo flessibile e raccordi delle dimensioni indicate nello
schema.

Lubrificazione

1. Usare un lubrificatore ad aria con una regolazione per l'olio di
due gocce al minuto. Se non si pud usare un lubrificatore ad
aria, aggiungere I'olio manualmente una volta al giorno.

2. Controllare I'clio della frizione una volta al mese. Usare 22 ml di
olio SAE n. 30 o un olio dello stesso tipo.

Dati dell'utensile

Questo utensile genera un livello acustico di 102 dBA in
relazione alla pressione acustica e 112 dBA in relazione alla
potenza acustica, in base ai codici di prova CAGI - Pneurop, e
un livello di vibrazioni di 12,4 m/s? in base ai test previsti da ISO
8662, con un tamburo di attrito impostato su un giro ogni otto
secondi.

Manutenzione

1. Se l'utensile si usa ogni giorno, smontare e ispezionare il
mototre ad aria e la frizione ogni tre mesi.

2. Sostituire eventuali parti danneggiate o usurate.

3. Le parti maggiormente soggette a usura sono sottolineate nell
'apposito elenco.

Requisitos para suministro de aire

1. El aire de alimentacion de la herramienta debe suministrarse
limpio y seco, y a 90 psig (6,2 bares) de presion. Valores
superiores de presion reduciran la vida Gtil de la herramienta.

2. Conectar la herramienta a la linea de aire, usando el tubo, la
manguera y los accesorios de las medidas indicadas en el
diagrama.

Lubricacion

1. Usar lubricador de linea neumatica con lubricacion de her
ramienta neumatica regulada a dos gotas por minuto. Si no
fuera posible utilizar un lubricador de linea, agregar aceite a la
entrada del circuito neumatico una vez por dia.

2. Revisar el aceite del embrague una vez por mes. Usar 0,75
onzas (22 ml) de aceite SAE 30 o su equivalente.

Datos técnicos de la herramienta

Esta herramienta produce un nivel de ruido de 102 dBA, corre
spondiente a una intensidad sonora de 112 dBA segln el
cédigo de pruebas CAGI-Pneurop, y un nivel de vibracion de
12,4 m/s?, segln prueba ISO 8662, cargada con cilindro de
friccién de una vuelta cada ocho segundos.

Mantenimiento

1. Sila herramienta se usa diariamente, desarmar e inspeccionar
cada tres meses el motor neumético y el embrague.

2. Cambiar las partes desgastadas o averiadas.

3. En la lista de partes, las piezas de alto desgaste figuran
subrayadas.

Requisitos para suprimento de ar

1. Fornega 90 psig (6.2 bar) de ar limpo e seco. Uma pressao
maior reduziré a vida Util da ferramenta.

2. Faga a conexdo da ferramenta ao filete de ar utilizando os
tamanhos de tubulac@o, mangueiras e ligagdes fornecidas no
diagrama.

Lubrificacao
1. Utilize um lubrificador de filete de ar que contenha 6leo para
ferramenta a ar ajustado em duas gotas por minuto. Se um

lubrificador ndo puder ser utilizado, acrescente 6leo na entrada
uma vez por dia.

2. Verifique o 6leo da embreagem uma vez por més. Use o 6leo
SAE de 75 ongas (22 ml), ou equivalente.

Dados sobre a ferramenta

Esta ferramenta produz um nivel de ruido de 102 dBA de
pressao do som, 112 dBA de poténcia acustica pelo codigo de
provas CAGI - Pneurop e um nivel de vibragcéo de 12,4 m/s?
testado pelo 1ISO 8662 carregado com tambor de friccdo
regulado em uma volta em oito segundos.

Manutencao

1. Desmonte e inspecione o motor da embreagem de impacto a
cada trés meses, caso esta ferramenta seja usada
diariamente.

2. Substitua pegas danificadas ou desgastadas.

3. As pecgas de maior utilizagdo encontram-se sublinhadas na
lista de pecas.

P122454

Luftforsyning

1. Veerktgjet skal forsynes med ren, ter luft ved 6,2 bar (90 psig).
Hgjere tryk afkorter veerktgjets levetid.

2. Veerktgjet tilsluttes til luftforsyningen ved hjeelp af rar, slanger
og fittings i de i diagrammet viste dimensioner.

Smaring

1. Brug et pd luftforsyningen indskudt smgreaggregat, der er
justeret til to dréber pr. minut. Kan et sddant smareag gregat
ikke anvendes, tilfgres olie i tilslutningsdbningen en gang om
dagen.

2. Kontrollér koblingsolien hver maned. Brug 22 ml SAE #30 eller
tilsvarende olie.

Veerktgjsdata

Dette veerktej afgiver et lydniveau pa 102 dBA lydtryk, 112 dBA
lydenergi pr. CAGI - Pneurop testkode og et vibrationsniveau pa
12,4 m/s? testet iht. ISO 8662 forsynet med friktionstromle
indstillet til en omdrejning pr. 8 sekunder.

Vedligeholdelse

1. Hvis veerktgjet bruges hver dag, skal ventilator og kobling
adskilles og kontrolleres hver tredje maned.

2. Udskift beskadigede eller slidte dele.

3. Dele, der udseettes for stort slid, er
reservedelslisten.

understreget i

CHICAGO PNEUMATIC TOOL COMPANY 9



CPO0351

Compression riveter

Model “B"

UP308

Parts Manual

o

Luftforsyningskrav

1. Verktgyet tilfgres 90 psig (6,2 bar) av ren, tarr luft. Hayere trykk
reduserer verktayets levetid.

2. Verktayet tilkoples luftledningen ved hjelp av rar, slanger og
monteringsstarrelser slik som vist i diagrammet.

Smgring

1. Bruk en luftledningssmgrenippel med luftverktaysoljen justert til
to draper i minuttet. Hvis en luftledningssmerenippel ikke kan
brukes, ma olje tilferes innlgpet en gang om dagen.

2. Kontroller clutcholien en gang hver maned. Bruk 22 ml SAE
#30-olje eller tilsvarende.

Verktgysdata

Dette verktayet fremstiller et stgyniva pa 102 dBA lydtrykk, 112
dBA lydkraft pr. CAGI - Pneurop testkode og et vibrasjon sniva
pd 12,4 m/s® testet pr. ISO 8662 lastet med en
friksjonstrommel innstilt til en omgang hvert 8. sekund.

Vedlikehold

1. Demonter og kontroller trykkluftmotor og slagclutch hver tredje
maned dersom verktgyet brukes hver dag.

2. Skadede eller slitte deler ma erstattes.
3. De slitesterke delene har blitt understreket pa reservedelslisten.

Kaytettavaan paineilmaan liittyvat vaatimukset

1. Kaytd tyodkalun kayttdvoimana 90 psig (6,2 bar) puhdasta,
kuivaa ilmaa. Suuremmat paineet lyhentavat tydkalun kayt
toikaa.

2. Liita tyokalu paineilmalahteeseen kayttamalla kaaviossa
mainittuja putki-, letku- ja liitinkokoja.

Voitelu

1. Kayta paineilmavoitelua, jossa voiteludljyn maéra on 2 tippaa
minuutissa. Jos paineilmavoitelua ei voida kayttaa, lisda oljyya
paineilman tuloliittimeen kerran péaivassa.

2. Tarkista kytkimen ollymaara kerran kuukaudessa. Lisda
tarvittaessa 22 ml (0.75 oz.) viskositeetiltaan SAE #30 tai vast.
oljya.

Tydkalun tekniset tiedot

Tama tyokalun melupaine on 102 dBA; melun voimakkuus on
112 dBA/CAGI - Pneurop testimenetelmalla. Tarindtaso on
12,4 m/s? 1ISO 8662 mukaan, jossa kitkarummun kiertonopeus
on 1 kierros/8 sekuntia.

Huolto

1. Jos kaytat laitetta pdivittain, pura ja tarkista paineilmamoottori
ja iskukytkin kolmen kuukauden véalein.

2. Vaihda vaurioituneet tai kuluneet osat.
3. Nopeasti kuluvat osat on alleviivattu varaosaluettelossa.

10

Krav for lufttillforsel

1. Tillfor verktyget 6,2 bar (90 psig) ren, torr luft. Ett hogre tryck
reducerar verktygets livslangd.

2. Anslut verktyget till luftledningen med rér-, slang- och skru
vforbindningsstorlekar enligt diagrammet.

Smorjning
1. Anvand en luftledningslubrikator med luftverktygets olja justerat

till tvd droppar/min. Om en luftledningslubrikator inte kan
anvandas, fyll pa oljan i inloppet en gdng om dagen.

2. Kontrollera kopplingsoljan varje méanad. Oljan ska vara av typen
SAE 30 eller motsvarande och mangden 22 ml.

CHICAGO PNEUMATIC TOOL COMPANY

Verktygsinformation

Det har verktyget producerar en bullernivd pd 102 dBA
ljudtryck, 112 dBA ljudstyrka enligt CAGI - Pneurop testkod och
en vibrationsniva pa 12,4 m/s?, testat enligt 1ISO 8662, belastad
med friktionstrumman installd pa ett varv pa atta sekunder.

Underhall

1. Ta isar och inspektera luftmotorn och kopplingen var tredje
manad om verktyget anvands varje dag.

2. Byt ut skadade och slitna delar.

3. Delar med svar slitning har understrukits i listan 6ver
reservdelar.

P122454



CPO0351 UP308
Compression riveter Model “B" Parts Manual
P122454 CHICAGO PNEUMATIC TOOL COMPANY 11



CPO0351

Compression riveter

Model “B"

UP308

Parts Manual

Manufacturer’'s Limited Warranty

Products of Chicago Pneumatic Tool Company (CP) purchased new from CP or its
authorized dealers are warranted to the original retail purchaser to be free from
defects in material and workmanship for a period of one year after purchase,
provided that such Product has not been subjected to abuse, misuse, neglect,
modification nor been repaired by anyone other than CP or its authorized service
representative. To make a claim, return the Product to CP or its authorized service
representative, transport prepaid, along with proof of date of purchase and a
brief description of the defect. CP will repair or replace defective Products at its
option. Repairs and replacements are warranted only for the remainder of the
original warranty. CP’s sole liability and your sole remedy under this warranty is

limited to repair or replacement as set forth herein. THE FOREGOING WARRANTY
ISGIVEN IN LIEU OF ALL OTHER WARRANTIES, OR CONDITIONS, EXPRESSED
OR IMPLIED, INCLUDING ANY WARRANTY, OR CONDITION, OF MERCHANT-
ABILITY OR FITNESS FOR A PARTICULAR PURPOSE. CP SHALL NOT BE
LIABLE FOR INCIDENTAL, CONSEQUENTIAL OR SPECIAL DAMAGES, ORANY
OTHER DAMAGES, COSTS, OR EXPENSES, WHETHER DIRECT OR INDIRECT,
EXCEPT AS SPECIFICALLY SET FORTHABOVE. NO ONE, WHETHER OR NOT
ANAGENT, SERVANT OR EMPLOYEE OF CP, ISAUTHORIZED TOADD TO OR
MODIFY THE TERMS OF THIS LIMITED WARRANTY INANY MANNER WHAT-
SOEVER.

Befristete Herstellergarantie

Die Chicago Pneumatic Tool Company (im folgenden “CP” genannt) garantiert dem
Erstkaufer fur ein Jahr ab Verkaufsdatum, daf? ihre Produkte fir ein Jahr frei von
Material- und Verarbeitungsschaden sind, vorausgesetzt, daf? die Produkte weder
unsachgemén eingesetzt oder behandelt noch von einer Person, die nicht CP
oder einem von CP autorisierten Kundendienst-Center angehort, modifiziert oder
repariert wurden. Zur Inanspruchnahme der Garantie senden Sie das Produkt
unter Vorauszablung der Transportkosten an CP oder ein von CP autorisiertes
Kundendienstcenter. Fligen Sie lhren Namen und lhre Anschrift, einen
Kaufnachweis des Kaufdatums sowie eine kurze Beschreibung des Fehlers bei.
Fehlerhafte Produkte werden von CP kostenfrei repariert oder ersetzt, wobei
sich CP die Entscheidung vorbehélt, ob Ersatz oder Reparatur vorgenommen
wird. Reparatur oder Ersatz eines fehlerhaften Produkts verlangert die

urspriingliche Garantiedauer nicht. CPs Haftung und lhre Anspriiche aus dieser
Garantie sind auf die Reparatur oder den Ersatz, wie oben beschrieben,
beschrankt. Obige Garantie ersetzt alle anderen Garantien oder
ausdricklichen oder nicht ausdricklichen Garantiebedingungen
einschliesslich der Garantie und der Garantiebedingungen betreffend
den Verkauf oder die Eignung fir einen bestimmten Zweck. CP
Ubernimmt keine Haftung fur mittelbare oder unmittelbare
Folgeschéaden oder mittelbare oder unmittelbare Folgekosten, mit
Ausnahme der oben beschriebenen Reparatur- oder Ersatzleistungen.
Von CP Beauftragte oder beschaftigte Personen oder andere Personen
sind in keiner Weise bemachtigt oder befugt, diese
Garantiebedingungen in irgendeiner Form zu &ndern oder auszuweiten.

Limites de garantie du fabricant

Les produits de Chicago Pneumatic achetés auprés de la société elle-méme ou
aupres de ses revendeurs agréés sont couverts vis-a-vis du premier acheteur
par une garantie sur les vices de matériel et de fabrication pendant une période
d’'un an a partir de la date d’achat. Sont exclus de cette garantie les appareils
soumis a un usage impropre ou abusif, modifiés ou réparés par des personnes
non employées par Chicago Pneumatic ou ses unités de service agréées. En cas
de réclamation, retournez I'appareil a Chicago Pneumatic ou a I'unité de service
agréée en port payé, avec un justificatif de la date d'achat et une bréve descrip-
tion du défaut. Chicago Pneumatic réparera ou remplacera, a sa discrétion, les
appareils défectueux. Les réparations ou produits de remplacement seront
garantis uniguement pour le reste de la durée de la garantie d’origine. La

responsabilité de Chicago Pneumatic et vos prétentions concernant la présente
garantie se limitent a la réparation ou au remplacement du produit mis en cause
aux conditions stipulées ci-dessus. La présente garantie est valable a
I’exclusion de toute autre garantie ou condition de vente comprenant,
de maniere implicite ou explicite, des garanties ou des assurances
sur les possibilités de commercialisation et d’'usage du produit a des
fins particuliéres. Chicago Pneumatic ne peut en aucun cas étre tenue
responsable des dommages accidentels, indirects ou autres, ni des
frais directement ou indirectement encourus a I’exception de ceux
stipulés ci-dessus. Nul n’est autorisé a modifier ou compléter de
guelque maniére que ce soit les termes de la présente garantie, qu’il
soit ou non salarié ou agent de Chicago Pneumatic.

Beperkte garantie van de fabrikant

Producten van Chicago Pneumatic Tool Company (CP) die nieuw worden gekocht
van CP of geautoriseerde dealers, zijn voor de eerste koper gegarandeerd vrij
van fouten in materiaal en afwerking tot een jaar na aankoop, mits deze producten
niet verkeerd of oneigenlijk zijn gebruikt of gewijzigd, of zijn gerepareerd door
anderen dan CP of geautoriseerde servicediensten. Wanneer u een claim wilt
indienen, kunt u het product inleveren bij CP of een geautoriseerde CP-
servicedienst: met vooruitbetaling van transportkosten, bewijs van aankoop met
aankoopdatum en een korte beschrijving van het mankement. CP zal, naar eigen
goeddunken, defecte producten repareren of vervangen. Reparaties of
vervangingen zijn slechts gegarandeerd voor de rest van de oorspronkelijke

garantieperiode. De enige aansprakelijkheid van CP en uw rechten op grond van
deze garantie zijn beperkt tot reparatie of vervanging van het defecte product
zoals hierboven beschreven. Deze garantie vervangt alle overige garanties
of voorwaarden, uitdrukkelijk of impliciet, waaronder garanties of
voorwaarden met betrekking tot de verkoopbaarheid of de
geschiktheid voor een bepaald doel. CP is niet aansprakelijk voor
Incidentele, indirecte of speciale schade of enige andere schade, kosten
of uitgaven, hetzij direct of indirect, met uitzondering van het hierboven
genoemde. CP-dealers, -vertegenwoordigers of -werknemers, of enige
andere personen zijn niet gerechtigd op welke wijze dan ook deze
garantie aan te passen, uit te breiden of aan te vullen.

Garanzia limitata del produttore

La Chicago Pneumatic Tool Company (“CP”) garantisce all'acquirente originario
che i prodotti acquistati nuovi dalla CP o da rivenditori autorizzati sono esenti da
difetti di materiale e dilavorazione. La garanzia & valida per un periodo di un anno
dalla data di acquisto, purché i prodotti CP non abbiano subito modifiche, siano
stati impiegati secondo gli usi previsti e trattati nella maniera adeguata e non siano
stati effettuati tentativi di riparazione da parte di personale non autorizzato dalla
CP o dai suoi rappresentanti del servizio di assistenza. Se un prodotto CP risulta
difettoso, recapitarlo alla CP o ai rappresentanti autorizzati del servizio di assistenza,
con le spese di trasporto pagate in anticipo, allegando le informazioni relative al
proprio nome e indirizzo, una ricevuta o scontrino da cui si evince la data di
acquisto e una breve descrizione del difetto rilevato. La CP effettuera, a propria

discrezione, la riparazione o la sostituzione dei prodotti difettosi. Eventuali
riparazioni o sostituzioni sono garantite per il resto del periodo di garanzia originario.
La garanzia € limitata alla riparazione o alla sostituzione dei prodotti difettosi
secondo quanto previsto in questo documento. La presente garanzia
sostituisce ogni altra garanzia o condizione esplicita o implicita,
comprese eventuali garanzie o condizioni di commerciabilita o idoneita
per scopi particolari. La CP non & responsabile per danni incidentali,
consequenziali o speciali, o per altri danni, costi o spese dirette o
indirette, eccezion fatta per le condizioni sopra elencate. Nessun
dipendente, agente o impiegato della CP & autorizzato ad apportare, in
alcun modo, aggiunte o modifiche ai termini di questa garanzia limitata.

12

Garantia limitada del fabricante

Chicago Pneumatic Tool Company (CP) garantiza al comprador al por menor
original que los productos adquiridos nuevos de CP o de un representante
autorizado no tienen defectos de material y mano de obra durante un afio a partir
de la fecha de adquisicién, siempre y cuando los productos no sean maltratados,
mal empleados, modificados o reparados por personal ajeno a CP o a sus
representantes de servicios autorizados. Si desea presentar una reclamacion,
devuelva el producto a cualquier representante de servicio autorizado de CP, con
el transporte pagado, una prueba adecuada de la fecha de adquisicion y una
breve descripcion del defecto. CP reparara o sustituird, segin su criterio, los
productos defectuosos. Esta garantia cubrira todas las reparaciones o

CHICAGO PNEUMATIC TOOL COMPANY

sustituciones de productos que tengan lugar dentro del plazo de garantia original.
La Unica responsabilidad de CP y su compensacion exclusiva en esta garantia se
limita a la reparacion o sustitucién tal como se ha expuesto anteriormente. La
mencionada garantia sustituye a todas las garantias o condiciones,
expresas o implicitas, incluidas las garantias o condiciones de
comerciabilidad o aptitud para fines especificos. CP no podréa ser
considerado responsable de ningun dafio incidental, consecuencial o
especial, o cualquier otro dafio, costos o gastos, directos o indirectos,
a excepcion de los anteriormente expuestos. Nadie, sea o no agente,
funcionario o empleado de CP, tiene la autorizaciéon para afadir o
modificar los términos de esta garantia limitada en modo alguno.

P122454



CPO0351

Compression riveter

Model “B"

UP308

Parts Manual

Garantia Lmitada do Fabricante

Os produtos da Chicago Pneumatic Tool Company (“CP”) adquiridos
originalmente da CP ou seus revendedores autorizados, estdo garantidos
contra defeitos de material e fabrico por um ano, a partir da data de
aquisicdo, desde que o referido produto ndo tenha sido maltratado,
utilizado indevidamente, modificado ou reparado por alguém que ndo seja
da CP ou seus representantes de servicos autorizados. Para fazer uma
reclamacéo, devolva o produto & CP ou ao seu representante de servicos
autorizados, com pré-pagamento de transporte, juntamente com prova
adequada da data de aquisicdo e breve descricdo do defeito. A CP
reparard ou substituird gratuitamente os produtos defeituosos. As
reparagdes ou substituicbes encontram-se garantidas, como acima

descrito, para o periodo restante da garantia original. A garantia é
limitada ao reparagdo ou substituicdo do produto defeituoso. A
presente garantia substitui quaisquer outras garantias ou condi¢cdes
expressas ou implicitas, incluindo qualquer garantia, condi¢cdo de
comercializacdo ou aptiddo para um determinado objectivo. A CP néo
serd  responsavel por danos especiais, consequéncias,
supervenientes, ou quaisquer outros danos, custos ou despesas,
directos ou indirectos, excepto aqueles acima expressamente
determinados.  Nenhuma  pessoa, incluindo representantes,
funcionarios ou empregados da CP estdo autorizados a acrescentar
ou modificar os termos da presente garantia limitada.

Fabrikantens begreensede garanti

Produkter fremstillet af Chicago Pneumatic Tool Company (CP) kebt som
nye fra CP eller firmaets autoriserede forhandlere er garanteret for den
oprindelige kgber at veere fri for defekter i materiale og fabrikation i en
periode pa ét ar efter keb, forudsat at et sddant produkt hverken har vaeret
udsat for mishandling, misbrug, misragt, modifikation eller er blevet
repareret af  andre end CP eller  firmaets  autoriserede
servicerepreesentanter. Returnér produktet til CP eller firmaets autoriserede
servicerepraesentanter, fragt forudbetalt, sammen med bevis pa
kebsdatoen og en kort beskrivelse af defekten for at foretage en
reklamation. CP vil reparere eller udskifte defekte produkter efter eget valg.
Reparerede eller udskiftede produkter er kun garanteret for den resterende
periode af den oprindelige garanti. CPs eneste ansvar og dit eneste

retsmiddel under denne garanti er begreenset til reparation eller
udskiftning, som fremsat heri. DEN FORUDGAENDE GARANTI ER GIVET |
STEDET FOR ALLE ANDRE GARANTIER OG BETINGELSER, UDTRYKT
ELLER INDFORSTAET, INKLUDERET ENHVER GARANTI ELLER
BETINGELSE FOR SALGBARHED ELLER EGNETHED TIL ET GIVET
FORMAL. CP SKAL IKKE V/ZERE ANSVARLIG FOR TILFAELDIGE,
BETINGEDE ELLER SARLIGE BESKADIGELSER, BEKOSTNINGER ELLER
OMKOSTNINGER, HVAD ENTEN DIREKTE ELLER INDIREKTE,
UNDTAGEN SOM DET ER SARLIGT FREMSAT OVENFOR. INGEN,
HVAD ENTEN DET ER EN AGENT, REPRASENTANT ELLER ANSAT
HOS CP ELLER EJ, ER AUTORISERET TIL AT F@JE TIL ELLER ZANDRE
BETINGELSERNE FOR DENNE BEGR/ENSEDE GARANTI PA NOGEN
MADE OVERHOVEDET.

Fabrikantens begrensete garanti

Produkter fra Chicago Pneumatic Tool Company (CP) kjgpes nye fra CP
eller fra deres autoriserte forhandlere, og leveres med en garanti til den
opprinnelige kjgperen som hevder at produktene er uten feil n&r det gjelder
materialer og fremstilling, for et tidsrom p& ett ar etter innkjgpet, forutsatt at
produktene ikke har blitt misbrukt, forsgmt, endret eller reparert av en
annen person enn CP eller deres autoriserte servicerepresentant. For &
oversende et krav, m& produktet sendes til CP eller til deres autoriserte
servicerepresentant, med forhandsbetalt transport, sammen med bevis pa
innkjgpsdatoen og en kort beskrivelse av feilen. CP vil reparere eller
erstatte mangelfulle produkter etter eget valg. Reparasjoner og erstatninger
vil kun garanteres for den gjenstdende delen av den opprinnelige garantien.
CPs eneste ansvar og den eneste mulighet som du har i fglge denne

garantien er begrenset til reparasjon eller erstatning slik som beskrevet
her. DEN TIDLIGERE GARANTIEN HAR BLITT UTSTEDT ISTEDEN FOR
ALLE ANDRE GARANTIER ELLER BETINGELSER, DIREKTE ELLER
INDIREKTE, INKLUDERT EVENTUELL GARANTI, ELLER FORHOLD,
SOM GJELDER SALGBARHET ELLER EVNEN TIL A UTF@RE ET
SPESIELT FORMAL, OG GARANTIEN VIL IKKE DEKKE TILFELDIG,
FOLGELIG ELLER SPESIELL SKADE ELLER NOEN ANNEN TYPE
SKADE, ELLER UTGIFTER, HVORVIDT DIREKTE ELLER INDIREKTE,
BORTSETT FRA DE SOM SPESIELT HAR BLITT BESKREVET
OVENFOR. INGEN PERSON, HVORVIDT VEDKOMMENDE ER ELLER
IKKE ER EN AGENT, ANSATT HOS ELLER FUNKSJONAR FOR CP, ER
AUTORISERT TIL A TILF@YE ELLER ENDRE BETINGELSENE | DENNE
BEGRENSEDE GARANTIEN PA NOEN SOM HELST MATE.

Valmistajan rajoitettu takuu

Chicago Pneumatic Tool Companyn (CP) tuotteiden alkuperaiselle
vahittdéismyyntiostajalle taataan yhden vuoden aikana ostohetkesta lahtien,
ettd tuotteissa, jotka on ostettu uusina CP:ltd tai sen valtuuttarnilta
jalleenmyyijilta, ei ole aine- tai valmistusvikoja edellyttaen, etté tuotetta ei
ole kéaytetty vaarin, hoidettu huonosti tai muutettu, eiké sitd ole annettu
korjattavaksi kenellekadan muulle kuin CP:lle tai sen valtuuttamalle
huoltoedustajalle. Korvausvaatimusta tehtdessé tuote on palautettava
CP:lle tai sen valtuuttamalle huoltoedustajalle kuljetusmaksu etukateen
maksettuna; mukana on oltava myds ostopdivad koskeva todistus seka
lyhyt kuvaus viasta. CP joko korjaa tai vaihtaa viallisen tuotteen uuteen
oman harkintansa mukaan. Korjauksista ja vaihdossa toimitetuista
tuotteista annetaan takuu ainoastaan alkuperdisestd takuusta jaljella

olevaksi ajaksi. CP:n ainoa vastuu ja ostajan ainoa korvausvaatimus
taman takuun aikana on rajoitettu tédssa mainittuun korjaukseen tai
tuotteen vaihtamiseen. EDELLA SELOSTETTU TAKUU ANNETAAN
KAIKKIEN MUIDEN - SEKA NIMENOMAAN ILMAISTUJEN ETTA
EPASUORIEN - TAKUIDEN TAl EHTOJEN ASEMESTA, MUKAAN LUKIEN
JOKAINEN  KAUPAKSI KAYMISTA TAI JOHONKIN TIETTYYN
TARKOITUKSEEN SOPIVUUTTA KOSKEVA TAKUU TAI EHTO. CP EI OLE
VASTUUSSA LITANNAIS-, SEURANNAIS- TAI ERITYISVAHINGOISTA EIKA
MUISTA SUORISTA TAI EPASUORISTA VAHINGOISTA TAI KULUISTA,
ELLEI NIITA OLE NIMENOMAAN EDELLA MAINITTU. El KENELLAKAAN,
MUKAAN LUKIEN CP:N EDUSTAJAT JA TYONTEKIJAT, OLE OIKEUTTA
TEHDA MINKAANLAISIA LISAYKSIA TAI MUUTOKSIA TAMAN
RAJOITETUN TAKUUN EHTOIHIN.

P122454

Tillverkarens begréansade garanti

Produkter frdn Chicago Pneumatic Tool Company (CP) som inkdpts nya
from CP eller dess auktoriserade detaljhandlare. &r garanterade for den
ursprunglige kdparen att ej vara bristfalliga i material och utférande under
en period av ett ar efter inképsdatumet, forutsatt att dylik produkt ej har
utsatts for vanvard, missbruk, férsumlighet eller modifiering och ej heller
har reparerats av nagon annan &an CP eller dess auktoriserade
servicerepresentanter. For att gora ett ansprak, returnera produkten till CP
eller dess auktoriserade servicerepresentant, frakten forutbetald,
tillsammans med bevis pad inkopsdatumet och en kort beskrivning pa
defekten. CP kommer att reparera eller ersatta den bristfalliga produkten
efter eget gottfinnande. Reparationer och ersattningsprodukter garanteras
endast for den aterstdende tiden av den ursprungliga garantin. CP:s enda

CHICAGO PNEUMATIC TOOL COMPANY

ansvarsskyldighet och din enda gottgdrelse under denna garantin ar

begransad till reparation eller ersattning sasom framlagts héri.
OVANNAMNDA GARANTI GES |ISTALLET FOR ALLA ANDRA
GARANTIER ELLER VILLKOR, UTTRYCKLIGA ELLER

UNDERFORSTADDA, INKLUSIVE ALLA GARANTIER ELLER VILLKOR
ANGAENDE SALJBARHET ELLER LAMPLIGHET FOR ETT SPECIELLT
SYFTE. CP AR EJ ANSVARSSKYLDIG FOR OVASENTLIGA,
KONSEKVENTA ELLER ANDRA SKADOR, KOSTNADER ELLER
UTGIFTER, DIREKTA ELLER INDIREKTA, FORUTOM SASOM HAR
SPECIFICERATS HARI. INGEN, VARE SIG REPRESENTANTER,
TIANSTEFOLK ELLER ANSTALLDA HOS CP, AR EJ PA NAGOT SATT
AUKTORISERADE ATT TILLAGGA ELLER ATT MODIFIERA VILLKOREN
| DENNA BEGRANSADE GARANTI.

13



